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SECTION – I 
 – I 

 CHILD DEVELOPMENT AND PEDAGOGY
    

There are 30 questions in all in this section. 
All questions are compulsory. 

    30   
     

 

1. Who among the following has not propounded the learning theory ? 
 (A) Thorndike (B) Skinner 
 (C) Kohler (D) B.S. Bloom 

           ? 

 (A)  (B)  
 (C)  (D) ..   
 

2. Which of the following theory is also known as theory of reinforcement ?  
 (A) Operant conditioning theory (B) Stimulus response theory 
 (C) Classical conditioning theory (D) Theory of insight 

             ? 

 (A)    (B)    

 (C)    (D)    
 

3. Choose the example that illustrates intrinsic motivation. 
 (A) Vandana is working hard to score well in exams as she wants a gift from her parents. 
 (B) Urmila is completing her homework so that she can watch TV after completing her 

homework. 
 (C) Ila is reading more books so that she can secure first rank in District and her school 

get fame at District level.  
 (D) Megha is exploring various resources for her project because she loves learning new 

things. 

               : 
 (A)                  -  

     
 (B)             ..     
 (C)                    

       
 (D)                   

     
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4. Which among the following is different from the characteristics of a Good test ? 

 (A) Reliability (B) Validity 

 (C) Objectivity (D) Aptitude 

              ?  

 (A)  (B)  

 (C)  (D)   
 

 
5. Which of the following is most important in learner centered curriculum ? 

 (A) Teacher (B) Child 

 (C) Contents (D) Environment 

            ?  

 (A)  (B)  

 (C)  (D)   
 

6. Repeatedly asking children to engage in learning activities either to avoid punishment or to 
gain a reward will  

 (A) Decrease extrinsic motivation  

 (B) Increase intrinsic motivation 

 (C) Would encourage children to focus on mastery rather than performance goals.  

 (D) Decrease children’s natural interest and curiosity involved in learning. 

 -                     
  ?  

 (A)         

 (B)        

 (C)                  
   

 (D)                  
 

7. According to RTE Act, 2009 working hours per week for teachers are  

 (A) 40 hours (B) 42 hours 

 (C) 45 hours (D) 48 hours 

 ... , 2009              

 (A) 40  (B) 42  

 (C) 45  (D) 48   



PL-1 (5) C 

   

8. According to NCF 2005, the role of a teacher has to be  
 (A) Permissive (B) Facilitator 
 (C) Authoritative (D) Dictatorial 
 NCF 2005  ,        
 (A)  (B)  
 (C)  (D)  
 

9. The purpose of evaluation is  
 (A) To label children as slow learner and gifted children.  
 (B) To identify children who need remedial measures. 
 (C) To diagnose learning difficulties and problem areas.  
 (D) To provide feedback on the extent to which we have been successful in imparting 

education for a productive life. 
       ? 

 (A)                
 (B)               
 (C)             
 (D)                    

   
 

10. A Reflective teacher creates classroom situations for students to  
 (A) Listening the lecture.  
 (B) Taking notes from the lecture of the teacher. 
 (C) Maintaining classroom discipline.  
 (D) Promoting interaction between students and the teacher. 
    -          
 (A)     
 (B) -           
 (C) -      
 (D)            
 

11. Action research means  
 (A) A longitude research. 
 (B) An applied research. 
 (C) A research initiated to solve an immediate problem.  
 (D) A research with socio-economic objective. 
       
 (A)     
 (B)     
 (C)            
 (D) -        
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12. Match the following Principles of Development with their correct description : 

 Name of Principle of Development  Description of Principle 

(1) Proximodistal trend (a) Head to Toe Sequence 

(2) Cephalo-caudal trend (b) Different children develop at different rates 

(3) Inter-individual Differences (c) In a single child, the rate of development 
can vary from one domain of development to 
the other 

(4) Intra-individual Differences (d) Growth from the Centre of body to outwards 

  (1) (2) (3) (4) 

 (A) (d) (a) (b) (c) 

 (B) (a) (b) (c) (d)  

 (C) (c) (d) (b) (a) 

 (D) (d) (b) (a) (c) 

            : 
 

          

(1)  –   (a)       

(2)  –   (b)   -      

(3)   (c)       ,       
       

(4)   (d)          

  (1) (2) (3) (4) 

 (A) (d) (a) (b) (c) 

 (B) (a) (b) (c) (d) 

 (C) (c) (d) (b) (a) 

 (D) (d) (b) (a) (c)
 

13. Development proceeds from ________ to ________. 

 (A) General – Specific (B) Complex – Hard 

 (C) Specific – General (D) Simple – Easy 

  ________  ________      

 (A)  –  (B)  –  

 (C)  –  (D) –  
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14. Which of the following is not a characteristic of early childhood ? 

 (A) Pre-Gang age (B) Imitative age 

 (C) Questioning age (D) Toy age 

           ? 

 (A) -  (B)   
 (C)     (D)    
 

15. The Nature and Nurture debates refer to  

 (A) Genetic and Environment (B) Behaviour and Environment 

 (C) Environment and Biology (D) Environment and Upbringing 

           ? 

 (A)    (B)    

 (C)    (D)   -  
 

16. Which of the following statement or statements is/are false ? 
 (a) It is not necessary to understand that each child is unique. 
 (b) The child develops as unified whole. 
 (c) Any problem in one aspect of development is likely to affect the others. 
 (d) Development is a sequential process. 
 (A) (a), (b) and (c) (B) (b) and (c) 
 (C) (c) and (d) (D) Only (a) 

           / ? 
 (a)             
 (b)            
 (c)                  
 (d)       
 (A) (a), (b)  (c) (B) (b)  (c) 

 (C) (c)  (d) (D)  (a)  
 

17. ________ occurs when there are orderly and progressive changes in a human being due to 
maturation and experience. 

 (A) Growth (B) Development 

 (C) Physical changes (D) Mental changes 

 ________     ,            
    

 (A)  (B)  

 (C)   (D)    
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18. A child of 16 years age, scores 75 in I.Q. test. His mental age will be ________ years. 
 (A) 8 (B) 14 
 (C) 15 (D) 12 
 16         75    ,    _______  

  
 (A) 8 (B) 14 
 (C) 15 (D) 12  
 

19. Each person’s work is a reflection of certain abilities, in performing any particular task, a 
person selects some of his mental abilities as a model. This principle was given by  

 (A) Thorndike (B) Thurstone 

 (C) Gilford (D) Thomson 

          ,         
                    ?  

 (A)  (B)  

 (C)  (D)   
 

20. Which of the following is projective technique of personality measurement ? 
 (A) Rating scale (B) Observation 
 (C) Interview (D) Thematic appreciation test 
            ? 

 (A)   (B)  

 (C)  (D)     
 

21. I.Q. of a talented child is  
 (A) 130 (B) 140 
 (C) 55 (D) 120 
         
 (A) 130 (B) 140 
 (C) 55 (D) 120  
 

22. Schools should cater for individual differences to  
 (A) Make individual students feel exclusive.  
 (B) Narrow the gap between individual students. 
 (C) Not to assess the abilities and performance of students. 
 (D) Understand why students are able or unable to learn. 
           
 (A)         
 (B)           
 (C)              
 (D)                 
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23. Signs of gifted child are : 
 (i) Novelty in expression 
 (ii) Curiosity 
 (iii) Talkativeness 
 (iv) Hyper-activeness 
 (A) (i) and (iv) (B) (i) and (ii) 
 (C) (ii) and (iv) (D) (iii) and (iv) 

       ? 

 (i)    
 (ii)  
 (iii)   
 (iv)  
 (A) (i)  (iv) (B) (i)  (ii) 
 (C) (ii)  (iv) (D) (iii)  (iv)  
 

24. Who gave the formula of I.Q. written below ? 

 Intelligence Quotient = 
Mental age

Chronological age  100 

 (A) William Stern (B) Terman 
 (C) Binet (D) Galton 

         ? 

   = 
 

   100 

 (A)   (B)  

 (C)  (D)   
 

25. Creativity is usually associated with 
 (A) Hyperactivity (B) Low comprehension 
 (C) Convergent thinking (D) Divergent thinking 

      ? 

 (A)  (B)   
 (C)   (D)    
 

26. Which of the following condition promotes adjustment ? 
 (A) Acute anxiety (B) Obsessive thought of guilt 
 (C) Fear of illness (D) Free from neurotic fears and anxiety 
            ? 

 (A)   (B)        

 (C)    (D)        
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27. Srishti is the student of class two. She was taught basic mathematics by the teacher. Next 
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of 
learning is this ? 

 (A) Negative transfer (B) Positive transfer 
 (C) Bilateral transfer (D) Zero transfer 

  – 2            ,      
                   
     ? 

 (A)   (B)   

 (C)   (D)  
 

28. Two opposite desires present in an individual at the same time is called  
 (A) Conflict (B) Frustration 
 (C) Anxiety (D) Pressure 

               
 (A)  (B)  
 (C)  (D)   
 

29. Ravi’s intelligence test indicates that he is in category average to above-average of 
intelligence. However, his grades in reading, spelling, social sciences and science are very 
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has 

 (A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder) 
 (C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder) 

            ,           
 , ,                 
                

 (A)  (   ) 
 (B)  (   ) 

 (C)  (   ) 
 (D)  (   )  
 

30. “Learning is a process of progressive behaviour adaptation.” This statement was given by 
which educationist ? 

 (A) Skinner (B) Woodworth 
 (C) Crow and Crow (D) Gates and others 

 “         ”         ? 

 (A)  (B)  
 (C)    (D)     
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 – II 

 – I 

 
    30    

      
31.         : 
 (A)           
 (B)   ,         
 (C)          
 (D)             

32. “            ”      
 ? 

 (A)  (B) ..  

 (C)  (D) 
33.                 
 (A)   (B)   

 (C)   (D)  
34.        : 
 (A)           
 (B)             
 (C)               
 (D)          -     
35.             ? 

 (A)  (B)  

 (C)  (D) 
       36  40     :  

                     
                     ,  
                         
                ,       
                     
      ,                 
   ,                   
        ,       ‘  ?’     
              
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36. ‘’    -  : 
 (A)  +  (B)  +  

 (C)  +  (D)  + 

37.    ‘’      : 
 (A)  (B)  

 (C)  (D) 

38. ‘’     : 
 (A)  (B)  
 (C)  (D) 

39.    ‘’     : 
 (A)     (B)      
 (C)      (D)     

40. ‘’   : 
 (A)  (B)   
 (C)   (D)   
 

       41  45     :  
  ,         –           
                       , 
               ,         
                       
                 ,        
                         
                        
  ,          

41. ‘’    : 
 (A)        
 (B)        
 (C)         
 (D)        

42. ‘’     : 
 (A)  (B)  

 (C)  (D) 
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43. “          ”       ? 

 (A)   (B)   

 (C)   (D)  

44. ‘’   : 
 (A)  (B)  

 (C)  (D) 

45. ‘’      : 
 (A)  (B)  

 (C)  (D) 

46.        ? 

 (A)  (B)  

 (C)  (D) 

47.         : 
 (A)    (B)    
 (C)    (D)   
 

48.            : 
 (A)   (B)    
 (C)    (D)   

49. ‘   ’      :  
 (A)       (B)      
 (C)         (D)     

50. ‘  ’        : 
 (A)      (B)     
 (C)      (D)    

51.          : 
 (A)        
 (B)              
 (C)             
 (D)                

52.                  ? 

 (A)       (B)      
 (C) -    (D)      
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53.             ? 

 (A)                  
 (B)              
 (C)            
 (D)                 

54.     ‘  ’     ? 

 (A)      
 (B)     
 (C)         
 (D)    

55. ‘           ’      
     ? 

 (A)      (B)       
 (C)      (D)      

56. -      :  
 (A)     (B)     
 (C)     (D)    
57.        ? 

 (A)  (B)  

 (C)  (D) 

58.  ( )       ? 

 (A)   (B)   
 (C) -   (D)   

59.         : 
 (A)    (B)    
 (C)    (D)   

60.      : 
 (A)   (B)  
 (C)    (D) 
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SECTION – II 

LANGUAGE – I 

ENGLISH 
 

There are 30 questions in all in this section. 

All questions are compulsory. 

 
 

31. Writing is more complicated skill because of 

 (A) its variety of fields. 

 (B) its last position. 

 (C) its  inclusion of other subjects. 

 (D) graphic representation and presentation of structured thoughts. 

 

32. Language games help 

 (A) to improve speech (B)  to build structures 

 (C) to build vocabulary (D) to learn grammar 

 

33. Assessment of broad learning behavioural outcomes is a feature of 

 (A) CCE (B) Peer Evaluation 

 (C) Formative Assessment (D) Summative Assessment 

 

34. Which one is not a characteristic of Peer Evaluation ? 

 (A) Effective monitoring (B) Metacognition 

 (C) Saves teacherôs time (D) Faster feedback 

 

35. Cloze Test Evaluation was described by 

 (A) C.J. Dodson (B) Woods 

 (C) W.L. Taylor (D) Roberts Paul 
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INSTRUCTIONS / {ZX}e
(Read carefully and comply / Ü¶mZ go n‹T>| Am¡a nmbZ H$a| )

IMPORTANT / ‘hÎdnyU©

PL-1C (96)

1. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the
Online Application Form.
IÊS>  (^mfm ) ‘| Cgr ^mfm Ho$ àíZm| H$mo hc H$aZm A{Zdm¶© h¡ {Og ^mfm H$m M¶Z Aä¶Wu Zo ^mfm  Ho$ ê$n ‘| Am°ZcmBZ AmdoXZ-nÌ ‘| {H$¶m h¡ &

2. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in
the Online Application Form. The Language-II will be different from Language-I.
IÊS>  (^mfm- ) ‘| Cgr ^mfm Ho$ àíZm| H$mo hc H$aZm A{Zdm¶© h¡ {Og ^mfm H$m M¶Z Aä¶Wu Zo ^mfm-  Ho$ ê$n ‘| Am°ZcmBZ AmdoXZ-nÌ ‘| {H$¶m h¡ &
^mfm-  ^mfm-  go {^ÝZ hmoJr &

3. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No.,
not Question Booklet Number.
Aä¶Wu gw{ZpíMV H$a| {H$  erQ> ‘| {ZYm©[aV ñWmZ na àíZ-nwpñVH$m grarO H$moS> Ed§ {eâQ> H«§$. ghr ^am h¡ & AmnH$s  erQ> H$m ‘yë¶m§H$Z
àíZ-nwpñVH$m H«$‘m§H$ na Zht ~pëH$ àíZ-nwpñVH$m grarO H$moS> Ed§ {eâQ> H«§$. Ho$ AmYma na {H$¶m Om¶oJm &

1. Read complete instructions carefully and fill the details from Sl. No. 1 to 7 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising
during scanning of your OMR Answer Sheet.
{ZX}em| H$mo nyU© ê$n go Ü¶mZnyd©H$ n‹T>| Am¡a H«$‘m§H$  go  VH$ OMR erQ> Ed§ H«$‘m§H$  go  VH$ àíZ-nwpñVH$m (~wH$coQ>) H$mo ^a| & ¶{X Amn JcV VarHo$
go {ddaU ^aVo ¶m hñVmja H$aVo h¢ Vmo OMR erQ> H$s ñHo$qZJ Ho$ ’$cñdê$n hmoZo dmco n[aUm‘m| Ho$ à{V Amn ñd¶§ CÎmaXm¶r hm|Jo &

2. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will
open the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number
required in OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.
àíZ-nwpñVH$m ‘|  n¥ð> Ed§  àíZ h¢ & narjmWu {ZX}e {X¶o OmZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grc Imoc|Jo & ¶h gw{ZpíMV H$a c| {H$ àíZ-nwpñVH$m
‘|  àíZ h¢ Omo {H$ n¥ð> g§»¶m  go àmaå^ hmoH$a  VH$ h¢ & AmoE‘Ama erQ> na {e’²$Q> Zå~a Aä¶Wu H$mo Omar {H$¶o J¶o àdoe-nÌ Ho$ AZwgma A§{H$V H$aZm
h¡ Ed§ Omo àíZ-nwpñVH$m Ho$ D$nar ^mJ na ^r A§{H$V {H$¶m hþAm h¡ &

3. All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark.
There will be no negative marking for wrong answers.
g^r àíZ ~hþ{dH$ënr¶ àH$ma Ho$ h¢ & àË¶oH$ àíZ H$m EH$ {dH$ën hr ghr h¡ & àË¶oH$ àíZ Ho$ {c¶o {ZYm©[aV A§H$ EH$ h¡ & JcV Odm~ Ho$ {c¶o F$UmË‘H$ A§H$ Zht {X¶o Om¶|Jo &

4. All questions other than language questions of Sections II and III shall be bilingual.
àíZ-nÌ Ho$ ^mfm gå~pÝYV IÊS>  Ed§  Ho$ àíZm| Ho$ A{V[aŠV eof g^r IÊS>m| Ho$ àíZ {Û^mfr¶ hm|Jo &

5. In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during
the examination.
{H$gr àíZ ‘| {H$gr Ìw{Q> Ho$ {c¶o narjmWu H$mo {H$gr àH$ma H$m ZwH$gmZ Zht hmoJm & narjm H$s Ad{Y ‘| àíZm| ‘| {H$gr àH$ma H$m g§emoYZ Zht H$adm¶m Om¶oJm &

6. Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
Question Booklet. No additional paper shall be provided.
{H$gr àH$ma Ho$ a’$ H$m¶© hoVw àíZ-nwpñVH$m Ho$ AÝV ‘| OJh Xr J¶r h¡ & Bgo àíZ-nwpñVH$m go Zht ’$mSµ|> & {H$gr àH$ma H$m A{V[aŠV H$mJµO CncãY Zht H$adm¶m Om¶oJm &

7. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instru-
ment etc. is not allowed. Their use will result in disqualification.
cm°J Q>o~c, H¡$ëŠ¶wcoQ>a, ñcmB©S> ê$c, ‘mo~mBc ’$moZ, noOa, {S>OrQ>c S>m¶ar, ãë¶yQy>W, ‘mBH«$mo’$moZ ¶m {H$gr AÝ¶ àH$ma H$m BcoŠQ´>mo{ZH$ CnH$aU / dñVw H$m à¶moJ
d{O©V h¡ & BZHo$ Cn¶moJ na narjm go A¶mo½¶ Kmo{fV {H$¶m Om gH$Vm h¡ &

8. OMR Answer Sheet will be provided along with Question Booklet separately.
OMR erQ> àíZ-nwpñVH$m Ho$ gmW A{V[aŠV àXmZ H$s Om¶oJr &

9. The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After opening the Question Booklet, ensure that any page / question is not missing / not
printed / torn / repeated. In case, you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it
replaced within 5 minutes by the Invigilator. Warning Bell will ring at 5 minutes before closer of examination and the last long bell will
ring at closer of examination.
Aä¶Wu H$mo àíZ-nwpñVH$m narjm Amaå^ hmoZo Ho$ 10 {‘ZQ> nyd© Xr OmdoJr & Aä¶Wu Amdí¶H$ ê$n go OMR erQ ‘| g^r à{dpîQ>¶m| H$mo ghr àH$ma go ^ao &
àíZ-nwpñVH$m H$s grb narjm Amaå^ Ho$ 5 {‘ZQ> nyd© Imobo VWm H«$‘ g§»¶m 1 go 4 H$s à{dpîQ>¶m|  H$mo ghr àH$ma go ^ao & àíZ-nwpñVH$m ImobZo Ho$ níMmV
narjmWu VËH$mb ¶h gw{ZpíMV H$a| {H$ Cg‘| {ZYm©[aV g‘ñV n¥îR> h¡ / H$moB© àíZ Ny>Q>m Vmo Zht h¡ / N>nmB© nyU© h¡ / H$mJO ’$Qm> Vmo Zht h¡ ¶m H$moB© n¥îR> Xþ~mam
Ow‹S> J¶m h¡ µ& ¶{X àíZ-nwpñVH$m ‘| Bg àH$ma H$s H$moB© Ìw{Q> nmB© OmVr h¡ Vmo VËH$mb drjH$ H$mo gy{MV H$a| VWm 5 {‘ZQ> Ho$ ^rVa drjH$ go AnZr àíZ-nwpñVH$m
~Xbdm bo & MoVmdZr K§§Q>r narjm g‘mpßV Ho$ 5 {‘ZQ> nyd© ~OoJr Ed§ ApÝV‘ bå~r K§Q>r narjm g‘mpßV na ~OoJr &

10. Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Number in the space provided in the Question Booklet as well as in the OMR Answer Sheet.
àíZ-nwpñVH$m Ed§ OMR erQ> na {ZYm©[aV ñWmZ na Zm‘, narjm Ho$ÝÐ H$m H$moS>, hñVmja, Zm‘m§H$, àíZ-nwpñVH$m grarO H$moS>, {e’²$Q> H«$‘m§H$ Ed§ àíZ nwpñVH$m
H«$‘m§H$ A§{H$V H$a| &

11. With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet
corresponding to the question. For marking answers use blue/black ballpoint pen only. Gel pens/pencils are not allowed.
àË¶oH$ àíZ Ho$ Mma d¡H$pënH$ CÎma  d  ‘| {X¶o J¶o h¢ & àíZm| H$mo Ü¶mZnyd©H$ nTµ>| d ghr CÎma H$m M¶Z H$a CgHo$ CÎma H$mo OMR erQ> ‘| gå~pÝYV àíZ H«$‘m§H$
Ho$ g‘j C{MV Jmoco H$mo Jham H$a B§{JV H$a| & CÎmam| H$mo Xem©Zo Ho$ {c¶o Zrco ¶m H$mco ~m°c ßdmB§Q> noZ H$m hr Cn¶moJ H$a| & Ooc noZ ¶m nopÝgc H$m Cn¶moJ d{O©V h¡ &

Wrong Method :
:

Correct Method :
:

CORRECT / WRONG / WRONG / WRONG / WRONG /

12. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of
the candidate only.
OMR  erQ> H$mo H$åß¶yQ>a Ûmam ‘yë¶m§H$Z Ho$ {c¶o ~Zm¶m J¶m h¡ & ¶{X Amn Cn¶w©ŠV Ed§ OMR erQ> Ho$ {nN>co n¥ð> na {X¶o J¶o {ZX}em| H$m nmcZ Zht H$aVo, Vmo H$åß¶yQ>a
Ûmam AmnH$m ‘yë¶m§H$Z H${R>Z hmo Om¶oJm & Bg H$maU go narjmWu H$mo hmoZo dmco ZwH$gmZ H$s {Oå‘oXmar CgH$s ñd¶§ H$s hmoJr &

13. No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having
perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not
allowed to be taken by the candidate.
H$moB© narjmWu ApÝV‘ K§Q>r ~OZo Ho$ nyd© narjm H$j go ~mha Zht Om gHo$Jm & OMR erQ> H$m~©Z a{hV VWm AZw{c{n g{hV h¡ CgHo$ ~m¶t Va’$ na’$moaoeZ
{H$¶m hþAm h¡ & Aä¶Wu gmdYmZr go Aä¶Wu H$s à{V (AZw{c{n) go ‘yc à{V H$mo Eogo AcJ H$a| Vm{H$ {H$gr ^r VarHo$ go ‘yc à{V H$mo H$moB© hm{Z Z nhþ±Mo &
narjm-H$j N>moSµ>Zo Ho$ nyd© Aä¶Wu OMR H$s ‘yb à{V Ed§ àíZ-nwpñVH$m drjH$ H$mo gm¢n Xo & Aä¶Wu Ho$db AnZr OMR H$s à{V hr AnZo gmW bo Om gH|$Jo&
àíZ-nwpñVH$m Aä¶Wu AnZo gmW Zht bo Om gH|$Jo &




